T3 =Ty T);
O[K_] :=

Module[{Cs, @, N, A, s, i, 3, ks A, Gy v, a,

/3) gEVal, CJ z})

{Cs, ¢} =Rot[K]; n =Length[Cs];

A = IdentityMatrix[2n +1];

Cases[Cs, {s_ ,1 ,7 }»

9 . . . -T° T -1
(Anct, 1ttt e npne= (T3 T L))

A= T(—Total[q)]—Total[Cs|[A11,11]])/2 Det [A] ;

G = Inverse[A];

gEval[s& ] :=

Factor[& /.8, o ,s » (GLla, A1 /. T>T,)1;
z = gEval [Z::l Ri @@ Cs[k] ] ;

n n
z += gEval [Zk1=1 Zn=1 Ri2[Cs[k1], Cs[k2]1];
2 n

Z += gEval[Zk=1 Ty [eIkl, k1];

{Ay, (A/.T>Ty) (A/.T>Ty) (A/.T>T3) 2} //

Factor‘];



